Journeys Homework –

How able are you to plan a journey?


1.       Around the World in 80 Days was written by Jules Verne.


Phileas Fogg, an adventurer, places a bet with his friends that he can go round the world in only 80 days … this was in 1873.


The table shows Phileas Fogg’s proposed route.

	From
	To
	Transport
	Days
	Distance (km)

	London
	Suez
	Rail and steamer
	7
	3600

	Suez
	Bombay
	Steamer
	13
	4300

	Bombay
	Calcutta
	Rail
	3
	1700

	Calcutta
	Hong Kong
	Steamer
	13
	2600

	Hong Kong
	Yokohama
	Steamer
	6
	2500

	Yokohama
	San Francisco
	Steamer
	22
	7800

	San Francisco
	New York
	Rail
	7
	4100

	New York
	London
	Steamer and rail
	9
	5600


a.
Calculate each of the following:


i.
Total distance


ii.
Total time


iii.
Average speed (in kilometres per day)

b.
On which leg of the journey did Phileas Fogg expect to be travelling at the highest speed?

2. 
With the current, a boat managed to travel at 15 mph downstream for 6 miles.
a.
How long did it take to travel 6 miles downstream?

b.
Against the current the boat travelled at 10 mph.
How long did it take to get back to where it started?

c.
What was the average speed for the whole journey? (It was not 12·5 mph.)
Remember :
1 kilometre = 1000 metres
1 metre = 100 centimetres

3.
A scale of 1 cm representing 1 km is the same as 1 : 100 000

Fill in the table below (( means ‘represents’).

	
	Distance

	Scale
	on map (cm)
	on ground (km)

	1 cm ≡ 1 km
	2·7
	 

	1 cm ≡ 5 km
	4·8
	 

	1 cm ≡ 10 km
	5·3
	 

	1 : 100 000
	6·9
	 

	1 : 200 000
	2·7
	 

	1 : 250 000
	8·4
	 

	1 : 50 000
	3·8
	 


5.
Standard time in Melbourne is 10 hours ahead of Greenwich Mean Time. 

Standard time in New York is 5 hours behind Greenwich Mean Time.

[image: image1.png]



a.
When it is 6:45 p.m. in Britain, calculate the time in: 

i.
Melbourne

ii.
New York.

b.
A traveller leaves London at 3 p.m. His flight to New York takes 4 hours.

When he lands he asks a New Yorker the time.

What time will he be told?

6.
a.






b.
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The skipper of the Amethyst sees the Beryl 
on a bearing of 070°.

Calculate the back bearing, that is, the bearing 
of the Amethyst from the Beryl.

(a)





The bearing of the Waverley from Ardrossan is 245°.


Work out the back bearing of Ardrossan from the Waverley.











